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UwnwapGbp
22816300 [tnnh wuyuwbwghp FCUZ hin 130 15600 120
22816300 |Upwhkpuikph wldbiwlwh gnps PLUZ hu 250 30000 120
22816300 Uwunjwtikn PCUZ hwn 3000 36000 12
30197620  [A-4 pnunp PLUZ uintth 1850 92500 50
30197620 [A-4 unjwpwpeniyp PCU2 hun 40 1600 40
44140000 [A-4 undjup wihignyl PCUZ hun 40 1600 40
30197320  [onul Juphsubp PLUZ hun 50 2000 40
30197232  [pnpuwywhuy wnwqulwp PLUZ hwn 70 1400 20
39132300  [$uy; AOUL wnuh 1000 3000 3
30192125  [dwplkp gnibwynn ALU2 hun 100 2000 20
30192710 unuhid PLUZ hun 350 3500 10
30192122 [qnhy RCUZ hu 100 5000 50
44922100 [yuiJh& PCUZ wuinith 2400 9600 4
30197100 [ywphsh uhonily 24/6 swithh PCU2 uinuth 130 650 5
30192220  |pnpk fusnil dunyukl PCU2 hun 150 1500 10
22211000 <Upunwluing wihp> phpph pwdwlnpnugnnipyniif PCUZ hun 400 4800 12
22213000 |<Qnpép> wduwgph pwdwinpyugpnipinih PCUZ hun 4000 48000 12
22211000 [<Yppnipjnil> phpph puwdwinpnugpnipiniy PLUZ hwn 200 10400 52
44411100 |oph thuljui PCUZ hun 2500 62500 25
44141000  [oph &lynih lunnnguyy PCUZ hun 750 15000 20
44411100 [Onpwly oph PLUZ hun 3200 25600 8
31519100 |Lwfuy 100 Yun hgnpnipyudp PCUZ hun 110 2200 20
44521110 [Ypuil thwlwith vhomly PLUZ hun 800 8000 10
44531300 |quid ACUZ lig 820 2460 3
30192220  |uklniupy duyuyku PCUZ hun 150 1200 8
39224100 [wyty POULZ hwn 1000 30000 30
39835000  [Zwinuiljp Vwpnkjnt thuypin PCU2Z hun 850 5100 6
44531600 [vwhkl, hkmjnuy, wuinunul PLUZ hun 23 36800 1600
39831240 Uwppnn hnniyubkp PLUZ hwn 250 7500 30
37451700  [Gunul $nunpnjh PCU2 hun 4500 22500 5
37452200 _|Qunuy puuljkinpnh £OUZ hu 8500 42500 5
37452900  |Qunuly Ynjkjpnih PCU2Z hun 4500 22500 5
37451000  [Unyhy RCUZ hun 300 900 3
44521111 Zwjnwpupnipiniiibph wnwhinwl PLU2 hun 25000 250000 10
44521112 Gqpudwwywyku PLUZ dkwnp 120 33960 283
44521116 Lwdhbwn PCUZ hwn 29000 116000 4
39541210 _[Pwulbwipnjh guitg £CUZ hun 2000 2000 1
940,270 np.
WhuwwnwbpGbn
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65300000 | Ejkukpghuyh Ywwnwwpwpnud PLUL g 38 2,850,000 np. 75000
65200000 | Puwlwih qugh Ywnwlwpwpnud PLUL U 156 6,630,000 np. 42500
65100000 |Fuubym onh vwnwlwpwpnd PoUL Ul 220.2 308,280 np. 1400
90512000 Unpwhwhnipjuwi Swnwjnieiniitibph Aknpplpmud POUL pu 4 400,000 pp. 100000
64211000 |$hpujws hbnwpunuwluy POUC wihu 9 223,800 np. 1950
79971200 Tuuwgmguh fuqund RPCUZ hun 14000 28,000 np. 2
79971200 Twuwdunnjwhinkph Yuqunud PLUL hn 1000 21,000 np. 21
72590000 Uwpptph b uwnpwynpniulukph uywuwnplnud PRUL wuhu 30000 360,000 np. 12
COnwiklp 10,821,080 gp.
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12,001,350 np.




